
34

Differential(Front, Rear) / Gear Differential(Vorne, Hinten) / 
Diff rentiel(Avant, Arri re) / Diferencial(Delantero, Trasero)

2.6 x 6mm TP F/H Screw
       SK Treibschraube
       Vis TP F/H 2.6x6mm
       Tornillo 2.6x6mm TP F/H

3

4

6 x 10 x 3mm Ball Bearing
           Kugellager
           Roulements ˆ billes
           Rodamiento

Use Wrench Tool to tighten 2.6mm x 6mm screw. 
KreuzschlŸssel verwenden, um 2,6x6 mm Schraube festzuziehen. 
Utiliser la cl  en croix pour le serrage de la vis de 2.6mm X 6mm. 
Utilice la llave de tubo para apretar el tornillo 2.6mm X 6mm. 

Use Wrench Tool to tighten 2.6mm x 6mm screw. 
KreuzschlŸssel verwenden, um 2,6x6 mm Schraube festzuziehen. 
Utiliser la cl  en croix pour le serrage de la vis de 2.6mm X 6mm. 
Utilice la llave de tubo para apretar el tornillo 2.6mm X 6mm. 

2.6x6mm

2.6x6mm

2.6x6mm

2.6x6mm

2.6x6mm

6x10x3mm Ball Bearing
Kugellager
Roulements ˆ billes
Rodamiento

Exploded View / Explosionszeichnung / Vue  clat e / Despiece

161

IH21108

BRG022161

IH0730
IH0732

6x10x3mm Ball Bearing
Kugellager
Roulements ˆ billes
Rodamiento

BRG022161

IH21108

IH21108

6x10x3mm Ball Bearing
Kugellager
Roulements ˆ billes
Rodamiento

BRG022161

IH0728

IH0729

IH0729

IH0731

IH07165

IH21108

IH21108

IH20103

IH20103

 / デフギヤ（フロント/リヤ）

TPサラビス

ベアリング

ベアリング

レンチツールを使って2.6x6mmビスを締める。

レンチツールを使って2.6x6mmビスを締める。

 / 分解図

ベアリング

ベアリング



35

Diff rentiel central & Slipper / Diferencial Central, Embrague
Center Differential, Slipper Gear / Mitteldifferential und Rutschkupplung / 

2.6 x 6mm TP F/H Screw
       SK Treibschraube
       Vis TP F/H 2.6x6mm
       Tornillo 2.6x6mm TP F/H

2

1

2

1

4 x 7 x 2.5mm Metal Bushing
      Lager
      Bague M tal 4x7x2.5mm
      Casquillo Met‡lico 4x7x2.5mm

4x7x2.5mm Metal Bushing
Lager
Bague M tal
Casquillo Met‡lico

2

1

3 x 6 x 2.5mm Ball Bearing
           Kugellager
           Roulements ˆ billes
           Rodamiento

4mm - 5mm (refer to P.23). 
Das Spaltma§ muss zwischen 
4mm und 5mm betragen!. 
4mm - 5mm (voir P.23). 
M’nimo 4~5mm (ver P.23). 

2.6x6mm

2.6x6mm

2.6x6mm

6x12x4mm Ball Bearing
Kugellager
Roulements ˆ billes
Rodamiento

3x6x2.5mm Ball Bearing
Kugellager
Roulements ˆ billes
Rodamiento

Ball Bearing
Kugellager
Roulements ˆ billes
Rodamiento

*Optional ball bearings (No.BRG013) 
  can be used here. 
*Als Tuning kšnnen die Kugellager 
  Best.-Nr. BRG013 verwendet werden. 
*Remplacer les bagues m tal par l'option 
  roulements ˆ billes(R f. BRG013). 
*Puede instalar rodamientos 
  opcionales (No.BRG013). 

4mm Nylon Nut
Kunststoffmutter
Ecrou nylon
Tuerca Nylon

4x7x2.5mm

<                               >
<                                     >
<                               >
<                               >

<                        >�
<                               >�
<                                      >�
<                    >

Center Differential
Mitte Gear Differential
Diff rentiel Central
Diferencial Central

Slipper Gear
Rutschkupplung
Couronne de slipper
Embrague

4mm Nylon Nut
         Kunststoffmutter
         Ecrou nylon
         Tuerca Nylon

157

6 x 12 x 4mm Ball Bearing
           Kugellager
           Roulements ˆ billes
           Rodamiento

162

4 x 7 x 2.5mm Ball Bearing
           Kugellager
           Roulements ˆ billes
           Rodamiento

163

123

164

IH21108

IH1149

IH11165

IH1148

IH1148

IH1147

IH21108

IH21108

6x12x4mm Ball Bearing
Kugellager
Roulements ˆ billes
Rodamiento

BRG006162

IH1149

IH21108

IH1151
IH26158

IH1150
IH26156

IH28127
IH26156

IH26122
BRG013163 IH26123

IH26157

BRG007164

BRG006162

IH20103

Use Wrench Tool to tighten 2.6mm x 6mm screw. 
KreuzschlŸssel verwenden, um 2,6x6 mm Schraube festzuziehen. 
Utiliser la cl  en croix pour le serrage de la vis de 2.6mm X 6mm. 
Utilice la llave de tubo para apretar el tornillo 2.6mm X 6mm. 

 / センターデフ, スリッパーギヤ

TPサラビス

ベアリング

ベアリング

ベアリング

メタルブッシュ

メタルブッシュ

ナイロンナット

ベアリング

4mm～5mm（P23参照）
*オプションのベアリング（No.BRG013, 
  ￥1050）が使用できます。

レンチツールを使って2.6x6mmビスを締める。

<                        >

<                           >

センターデフ

スリッパーギヤ

ナイロンナット

ベアリング

ベアリング

ベアリング



36

Shock Absorber / Sto§dŠmpfer / 
Amortisseurs / Amortiguador

Maintain and clean regularly. 
RegelmŠ§ig warten und sŠubern! 
Entretenir et nettoyer r guli rement
Limpiar peri—dicamente.

O-ring Collar
O-Ring
Entretoise
Casquillo Junta t—rica

O-ring
O-Ring
Joint torique
Junta T—rica

8

2 x 4mm TP F/H Screw
          SK Treibschraube
          Vis TP F/H 2x4mm
          Tornillo 2x4mm TP F/H

O-ring
O-Ring
Joint torique
Junta T—rica

O-ring Collar
O-Ring
Entretoise
Casquillo Junta T—rica

For Front / Vorne 
/ Avant / Delanteros

For Rear / Hinten 
/ Arri re / Traseros

For Front / Vorne 
/ Avant / Delanteros

For Rear / Hinten 
/ Arri re / Traseros

For Front / Vorne 
/ Avant / Delanteros

For Rear / Hinten 
/ Arri re / Traseros

For Front / Vorne 
/ Avant / Delanteros

For Rear / Hinten 
/ Arri re / Traseros

For Front / Vorne 
/ Avant / Delanteros

For Rear / Hinten 
/ Arri re / Traseros

For Front : 16mm
Vorne : 16mm
Avant : 16mm
Delanteros : 16mm

For Rear : 21mm
Hinten : 21mm
Arri re : 21mm
Traseros : 21mm

2x4mm

2x4mm

4

8

69

160

IH1465

IH1463

IH33137

IH33136

IH34140

IH34140

IH1472

IH1471

IH1470

IH14166

IH1467

For Front / Vorne 
/ Avant / Delanteros

For Rear / Hinten 
/ Arri re / Traseros

IH1466

IH1464

IH31133

IH31132

IH1476

IH1473

IH1474

IH1475

IH1469

IH14160

 / ダンパーユニット

Oリングカラー

Oリング

定期的に汚れを取ります。

TPサラビス

Oリング

Oリングカラー

/ フロント用

/ リヤ用

/ フロント用

/ リヤ用

/ フロント用

/ リヤ用

/ フロント用

/ リヤ用

/ フロント用

/ リヤ用

/ フロント用

/ リヤ用

フロント用：16mm リヤ用：21mm



37

Direction / Direcci—n
Steering / Lenkung / 

2.6 x 6mm TP F/H Screw
       SK Treibschraube
       Vis TP F/H 2.6x6mm
       Tornillo 2.6x6mm TP F/H

1

3x4mm (Flanged)
(mit Scheibe)
(Epaul e)
(Con collar’n)

3mm Washer
Scheibe
Rondelle
Arandela

E2.5 E-ring
E-Ring
Clips
Clip

3 x 6mm Screw
                 LK Schraube
                 Vis 3x6mm
                 Tornillo 3x6mm

1

2

3 x 4mm Screw (Flanged)
           Schraube (mit Scheibe)
           Vis 3x4mm (Epaul e)
           Tornillo 3x4mm (Con collar’n)

4

4.8mm Pillow Ball
            Kugelschraube
            Rotule 4.8mm
            R—tula 4.8mm

1

E2.5 E-ring
           E-Ring E2.5
           Clips 2.5mm
           Clip E2.5

1

3mm Washer
             Scheibe
             Rondelle 3mm
             Arandela 3mm

2.6x6mm

3x6mm

IH27125

IH27126

IH028

IH28128

IH029

IH025

IH0626

IH024

IH34141

IH026

IH27124

IH34141

IH027

IH34141

IH34141

IH23

1382

IH27159

141

159

9mm - 10mm (refer to P.24). 
Das Spaltma§ muss zwischen 
  9mm und 10mm betragen!. 
9mm - 10mm (voir P.24). 
M’nimo 9~10mm (ver P.24). 

 / ステアリングユニット

TPサラビス

（フランジ付）

ワッシャー

Eリング

ビス

ビス（フランジ付）

ピロボール

Eリング

ワッシャー

9mm～10mm（P24参照）



A

A

E

B

E

F

G

G

F

H

H

I

I

J

B

D

C

C

J

K

D

K
2.6x6mmTP

3x12mm 3x20mm

3x6mm
3x3mm 3mm

2.6x6mm

2.6x6mmTP

2.6x8mmTP3mm

2.6x8mmTP 3x6mm

2.6x8mmTP

3x8mm 3x8mmTP

3x8mmTP 2.6x8mmTP

3x7mm

3x6mm

3x6mm

E2.5

E2.5

2.6x16mmTP

3x12mm

3x12mm

E2.5

E2.5

3mm

3mm

Page 36

2.6x14mmTP

2x4mmTP

3x10mmTP

2.6x14mmTP

E2.5

E2.5

L

L

S

M

S

M

22û

22û

E2.5

3x8mmTP

2.6x6mmTP

E2.5

2x6mmTP

2.6x8mmTP

2.6x10mmTP

2.6x6mmTP

2.6x10mmTP

2.6x10mmTP

2.6x6mmTP

E2.5

IHB1/2/10153

IH20103

IH24118

IH0519

IH1362

IH15W/Y79

IH0938

IH1787

IH1792

IH36143

IH25121

IH35-14142

IH36143

IH1152

IH25121
IH1043

IH011

IH1685

IH24117

IH32135

IH1895

IH1686 IH1792

IH1044

IH37147

IH0414

3x38mm
IH23

IH0414

IH1788

IH0414

IH1681

IH38144

IH0414

IH34141

IH25120
IH22145

IH22145

IH1040

IH1045

IH34141

IH0414

3x26mm
IH23

IH25120

IH1041

IH39154

IH20104

IH34141

IH36143

IH1046

IH1042

IH22-1165A

IH22-1165B

IH08G34
IH08G33

IH08G35

IH36143

IH023

1708155

IH0310

IH25119

IH0938

IH30R131

3x26mm
IH23

IH34140

IH0416

IH0937

IH0627

IH0521

IH21107

IH1468

IH36143

IH0624

IH0622
IH15W/Y77

IH15W/Y78

IH0625

IH0623

IH36143

IH1896

IH0624

IH36143

IH0939

IH1790

IH0416

IH34140

IH29129

IH1999

IH0520IH24116

IHTH01W/YIH19102

IH0310

IH022

E2.5

IH0939

IH0937
IH07165

IH11165

IH30F130

IH21106

IH08G36

IH0313

IH0312

IH0518

IH32134

IH24117

3x16mm
IH23

IH0415

IH0414

3x22mm
IH23

IH34141

IH1997

IH0310

IH19102

IHTH01W/Y

IH0414

IH29129

IH0517IH24116

IH1361

IH0311

IH13-22109

IH13-22110

IH25119

IH0310

IH0311

IH1468

IH0313 IH24118

IH15W/Y80

IH1894

IH1893

3x10mm

3x12mm

2.6x6mmTP

2.6x6mmTP

E2.5

E2.5

E2.5

3x12mm

3x10mm

3x10mm

3mm

2x4mmTP

3x20mm

2.6x6mmTP

3mm

3mm

2.6x12mmTP

3x18mm

3x10mmTP

3mm

2.6x6mmTP

2.6x6mmTP

シルバー

Silver
Silber
Argent
Plateado

Black
Schwarz
Noir
Negro

ブラック

IH1682

IH1683

IH1684

2.6x6mmTP

3x12mm
IH23

1.8x4mmTP

IH1153

IH20105

IH34141

IH0414

IH19101

2.6x14mmTP

3x8mmTP
(サラ)

2.6x8mmTP

3x10mmTP

IH1789

IH1791

IH1156
IH1154

IH1155

L : 46mm

M : 29mm

S : 23.5mm

Page 34

Page 37

Page 35

Page 36

Half 8 Mini Inferno© 2005 KYOSHO CORPORATION / 禁無断転載複製

38 39

EXPLODED VIEW / EXPLOSIONSZEICHNUNG
 / Vue  clat e / DESPIECE  / 分解図


